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o B FLEIRTT BEHAIL7EFS FHB
K # OUT I NOTAIDC NET K % OUT | NTOTALHDCP NET K % OUT I NIOTAHDCENET
1 = ' 36 47 83 19.2 63.8 1 WA &E 36 43 79 144 64.6 1 Il HEe 51 36 87 216 65.4
2 )& EA 36 46 82 14.4 67.6 2 EBEAKRK £Z 36 47 83 14.4 68.6 2 /A £ 36 43 79 9.6 694
3 =R JLH 36 50 86 16.8 69.2 3 BRHINKE 36 39 75 48 70.2 3 HLE M 41 36 7 7.2 69.8
41 FH 36 51 87 16.8 70.2 4 =% MR 36 41 7 48 T12.2 4 By Ee 4T 36 83 120 71
5 KA fRIE 36 53 89 16.8 72.2 5 &= X 36 41 7 48 722 5 EBEAR EX 36 41 77 4.8 72.2
6 #HHE B 36 47 83 9.6 734 6 HE EBE— 36 47 83 9.6 734 6 TR HRE 36 40 76 2.4 736
7 RET & 36 54 90 144 756 x| |7 ¥ 1ERE 36 48 84 9.6 744 X| |7 | & B 36 38 74 0.0 74 X
8 ZH IB% 36 54 90 7.2 828 X||8 =E EMH 36 41 7 0 77 X| |8 TiA HF 50 36 86 9.6 76.4 X
6% NET&G 416.4 6% NETAR 421.2 6% NETA | 421.4
A1 541 61z
£ I 2 5 3 E C KIREE
K % OUT | NTOTALHDCP NET K % OUT | NTOTALHDCP NET K % OUT | NTOTALHDCPNET
1 B B 36 48 84 19.2 6438 1 @k Bx 36 43 79 9.6 69.4 1 #n 8= 36 44 80 12 68
2 RE ME 36 48 84 14.4 69.6 2 HEES = 36 39 75 48 70.2 2 =K #B% 36 49 85 16.8 68.2
3 EFE EA 36 39 75 48 702 3 =< 36 45 81 96 714 3 BN mZD 36 51 87 16.8 70.2
4 #FH B 36 47 83 12 71 4 FEH 36 45 81 9.6 714 4 kR K—BB 36 46 82 9.6 724
5 =it E# 36 51 87 144 726 5 BiE OEE 36 39 75 24 72.6 5 #E FA 36 57 93 19.2 73.8
6 X f#Hz 36 45 81 7.2 73.8 6 =B £BW 36 44 80 7.2 728 6 Bl # 36 45 81 4.8 76.2
7 BE kE 36 51 87 9.6 774 Xx||7| ¥FH ®»z 36 40 76 24 736 X| |7 /BK JEE 36 48 84 7.2 76.8 X
8 fE M7 36 56 92 12 80 x| |8 8| Rl B— 36 49 85 7.2 77.8 X
6% NET&G 422 6% NETAR 427.8 6% NETA | 428.8
141 8L 9fiL
JIEDE)I% #H A AR A
K % OUT | NTOTALHDCP NET K % OUT | NTOTALHDCP NET K % OUT | NTOTALHDCPNET
1 ET B 36 51 87 216 654 1 ZBARESHE 48 36 84 16.8 67.2 1 JE 86T 36 49 85 16.8 68.2
2 ®mHE —1 4 36 80 9.6 704 2 AR ®|=mE 4 36 7 7.2 69.8 2| FIEZRF 36 49 85 14.4 70.6
3 lEEF 43 36 79 7.2 718 3 B0 #A 42 36 78 7.2 70.8 3 BH W 36 40 76 48 T71.2
4 ) F= 36 46 82 9.6 724 4 = = 45 36 81 9.6 714 4 HEFE BF 36 55 91 19.2 71.8
5 JIfm =¥ 51 36 87 144 726 5 kB MBz=E 49 36 85 12 73 5 488 (h— 36 47 83 9.6 734
6 [MHE = 36 50 86 9.6 764 6 #HFO =— 46 36 82 48 T17.2 6 &HIIl B— 36 53 89 14.4 74.6
7 =KREfkE 43 36 79 00 79.0 X||7 =E A 46 36 82 48 772 X| | 7| HHE E— 36 54 90 14.4 75.6 X
8 AE ft 36 51 87 4.8 822 X|[|8 f{E4K=%E 50 36 86 4.8 81.2 X[ |8 fmHE ik 36 47 83 7.2 75.8 X
6% NET&G 429 6% NETAF 429.4 6% NETAF | 429.8
1013z 11141 121
KEBAKRS KA JIEBERES
K £ oOuUT N TOTALHDCP NET K % OUT | NTOTALHDCP NET K % OUT | NTOTALHDCPNET
1] | 2 36 34 70 0 70 1| WA = 36 46 82 144 676 1 fk4ARKE 40 36 76 7.2 68.8
2 MWH ®A 36 47 83 12 71 2 12 BiZ 36 51 87 16.8 70.2 2| M mxE 44 36 80 9.6 70.4
3 fTH ME 36 36 72 0 72 3 #RF ®£= 36 55 91 19.2 718 3 w42 36 78 7.2 70.8
4 BER BR 36 48 84 12 72 4 JNH B 36 46 82 9.6 724 4 &wO H=AF 40 36 76 2.4 736
5 HN &= 36 39 75 24 726 5 K&E M2 36 43 79 48 T4.2 5 ELE—HR 39 36 75 0 75
6 1ETT Bh@ 36 40 76 24 73.6 6 RI& E 36 49 85 9.6 75.4 6 it =17 42 36 78 2.4 75.6
T8 H# 36 45 81 72 738 X||7| EM HBE 36 51 87 9.6 774 x| |7 wHPEEEHEE 43 36 79 24 76.6 X
8 MBHSURER 36 48 84 7.2 76.8 X||8 Xk FAL 36 48 84 2.4 816 x| |8| #xE = 43 36 79 0 79 X
6% NET&G 431.2 6% NETAF 431.6 6% NETAG | 434.2
131z 1441 1511
FHDMHBEIE NECF—LX BECH & - EBEABEI 7 XL b
K % OUT | NTOTALHDCP NET K % OUT | NTOTALHDCP NET K % OUT | NTOTALHDCPNET
1| #@F & 36 51 87 19.2 67.8 1 HB% BE 54 36 90 216 68.4 1 28 FF 42 36 78 9.6 684
2 [HE HER 36 44 80 9.6 704 2 Kk B— 47 36 83 14.4 68.6 2 Hlx &F 36 44 80 9.6 70.4
3 HMHE KE 46 36 82 9.6 724 3 RkHEH #®kx 43 36 79 7.2 718 3| FEFFL—BA 48 36 84 12 72
4 FE RfE 45 36 81 7.2 73.8 4 KH 4] 54 36 90 16.8 73.2 4| #HE AA5L 58 36 94 216 724
5 H£H EE 36 48 84 9.6 744 5 AR #E 46 36 82 7.2 T74.8 I3 EE 36 46 82 7.2 14.8
6 ®#HE Ko 36 49 85 9.6 754 6 FWEHE 44 36 80 2.4 T77.6 6 EH tE#E 46 36 82 4.8 T7.2
7 EFEAR Eft 50 36 86 4.8 812 X||7| #H —%F 61 36 97 16.8 80.2 X| |7 B 8AE 36 51 87 9.6 774 X
8 =fF K# 55 36 91 7.2 838 X||8| B TR 52 36 88 7.2 808 X| |8 fMFEHE EA 36 54 90 7.2 82.8 X
6% NET&G 434.2 6% NETAF 434.4 6% NETAG | 435.2




1614 174z 181z
JIWEE A F— LhA FHC E A
K % OUT | NTOTALHDCP NET K % OUTI NOTAIDC NET K % OUT | NTOTALHDCPNET
1| BRBEEF 40 36 76 7.2 68.8 1 AR #= 50 36 86 16.8 69.2 1 #FE BT 36 41 77 7.2 69.8
2 Whx BF 48 36 84 12 72 2 HAR B 41 36 77 48 T12.2 2| BFRE W= 36 51 87 16.8 70.2
3 FH E&F 42 36 78 48 73.2 3 FAH EE 36 68 104 31.2 72.8 3 kA #HF 36 55 91 19.2 71.8
4 AHOEH 42 36 78 4.8 73.2 4 MHE B 36 59 95 216 734 4| FE FHA 36 53 89 16.8 72.2
51/ =R BEBF 43 36 79 4.8 T74.2 5 B OEE 47 36 83 9.6 734 5| BB EX 36 52 88 12 76
6| JH)IEEE 53 36 89 14.4 74.6 6 He I[ERE 37 36 73  -2.4 754 6| FH = 36 41 7 0 17
7 FEINH=F 46 36 82 7.2 748 X||7 A N 36 47 83 7.2 758 X| |7 = &= 36 42 78 0 78
8| BER HWu 44 36 80 24 776 X||8 duE &EA 36 45 81 4.8 76.2 ¥| |8 &)l p 36 47 83 4.8 78.2 %
Ff26% NE T&E | 436 Efi6% NE T&E | 436.4 6% NE T&G | 437
191 2011z 211
JNEREBRE KEDF — LK ISP B B HEZE
K % OUT | NTOTALHDCP NET K £ OUTI NOTAIDC NET K % OUT | NTOTALHDCPNET
1 H+ #A 49 36 85 16.8 68.2 1 W xX& 52 36 88 16.8 71.2 1] i 153 55 36 91 21.6 69.4
2 Ea I 49 36 85 14.4 T70.6 2 =& B 45 36 81 96 T71.4 2 HH BEF 48 36 84 12 72
3 EiE Mt 62 36 98 24 74 3 ARBBTF 55 36 91 16.8 74.2 3 BXR AR 66 36 102 28.8 73.2
4 @Il {—+£ 42 36 78 2.4 75.6 41 LWt E& 42 36 78 2.4 75.6 4 =K K7 56 36 92 16.8 75.2
50 )l KfE 42 36 78 2.4 756 5 #K P 54 36 90 14.4 75.6 5 EA EE 51 36 87 96 774
6 2R A 44 36 80 0 80 6 KH = 44 36 80 2.4 T77.6 6 AER X« 55 36 91 12 79
7 B K 56 36 92 12 80 X||7 | KA = 49 36 85 7.2 T7.8 7 A EA 55 36 91 9.6 81.4 X
8| = HER 47 36 83 24 806 X||8 =K AL 55 36 91 9.6 81.4 8 ®IH FiE 51 36 87 4.8 822 %
6% NET&G 444 6% NETAF 445.6 6% NETA | 446.2
2211 2311 24411
HF B WEASES &ERED WEC b & > LRI Y
K % OUT | NIOTAHDCEFNET K % OUT | NTOTALHDCP NET K % OUT | NTOTALHDCPNET
1 Bl X 36 48 84 12 72 1 tHHE #H— 36 53 89 216 67.4 1 3H E= 57 36 93 24 69
2 A phE 36 46 82 9.6 724 2 BHE FF 58 36 94 216 724 2 ®Il *E— 60 36 96 21.6 74.4
31 NI B 36 48 84 9.6 744 3 v B 36 55 91 16.8 74.2 3 BE B 54 36 90 14.4 75.6
4 FEE 1EE 36 58 94 19.2 74.8 4| I = 36 74 110 33.6 76.4 4 A BB 55 36 91 14.4 76.6
5 B HE 47 36 83 7.2 75.8 5 BA AE 55 36 91 144 76.6 5 = N1 51 36 87 96 T77.4
6| K& &= 46 36 82 4.8 T77.2 6| K& 2 54 36 90 9.6 80.4 6 hth F 61 36 97 19.2 77.8
7 MY Bt 64 36 100 216 784 Xx||7 #E IEE 53 36 89 7.2 81.8 7 B BA 60 36 96 16.8 79.2 X
8| /& EE 51 36 87 7.2 798 X||8| MWHK BHZ 36 66 102 19.2 82.8 8 | 1kEk ZE 62 36 98 9.6 88.4 X
6% NET&G 446.6 6% NETAF 447.4 6% NETA | 450.8
25111 261iL 2711
g A B2 HBIBFIER IEBKRKES
K % OUT | NTOTALHDCP NET K % OUT | NTOTALHDCP NET K % OUT | NTOTALHDCPNET
1 H+ 53 36 48 84 12.0 72.0 1| BB EX 36 51 87 144 72.6 1 & EEES 43 36 79 9.6 69.4
2| BB FHE 36 49 85 12.0 73.0 2 B MHR 36 51 87 12 75 2 ftm =FR 45 36 81 7.2 73.8
3 MR &k 36 43 79 4.8 T14.2 3 BHN =B 36 56 92 16.8 75.2 3 H L 54 36 90 14.4 75.6
4 FH BA 36 53 89 12.0 77.0 40 )INE & 36 54 90 14.4 75.6 4| HES TEE 60 36 96 16.8 79.2
5 %@ K 36 46 82 48 772 5 M mEE 36 47 83 48 782 5 & &b 53 36 89 9.6 794
6 MBRNAEF 36 47 83 4.8 78.2 6| F=H & 36 52 88 9.6 78.4 6| #%BE 8B 53 36 89 9.6 794
7R BR 36 51 87 7.2 798 X||7 FH B 36 52 88 9.6 784 X| |7 mMAELSRE 53 36 89 9.6 79.4 X
8 Wl H=H 36 71 107 19.2 87.8 X||8| K B— 36 54 90 9.6 804 x| |8 Ttm Bt 53 36 89 7.2 81.8 X
6% NET&5 | 451.6 Ffi6% NET&F 455 Ffi6% NET& | 456.8







